
Additional Note
Sticky Note
The graph is not necessary, but it can help to judge the 'tails' on either side of the central spread for 1, 2 or 3 standard deviations each side of the mean.

Additional Note
Sticky Note
These figures are calculated from the probabilities for the standard normal distribution (see pages 36-37 ).

Additional Note
Sticky Note
The tables (see page 36 of the Formula and Tables booklet) give a probability of 0.8413 for z = 1. Hence (1 - 0.8413) is the probability for the right 'tail'. From symmetry, the left 'tail' also has probability of 0.1587 so that the two tails combined account for 0.3174 or approximately 32%. Hence, 68% will lie within one standard deviation of the mean, i.e. between (490 - 100) and (490 + 100).
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Additional Note
Sticky Note
This calculates the probability of scoring above 650 on the test.





Additional Note
Sticky Note
Since the 25th and 26th data points are the same, their average is not affected.







Additional Note
Sticky Note
Since there is no noticeable relationship between the two sets of data, the correlation coefficient will be small. This figure represents the weakest relationship of the four possible answers.





Additional Note
Sticky Note
Other forms of display are also possible. Whichever display is used, it must allow you to compare the two samples.






